FO1
FO1
F10
F10
F10
F10
F10
F10
FO1
F10
F10
F10
F10
F10
FO1
F10
F10
F10
F10
FO1
F10
F10
F10
F10
FO1
F10
F10
F10
F10
F10
F10
FO1
F10
F10
F10
FO1
F10
F10
F10
F10
FO1
F10
F10
F10

DEFENSIVE AND COMETITIVE BIDDING

LEADS Al

ND SIGNALS

OVERCALLS(Style; Responses; 1/2level; Reopening)

OPENIN

G LEADS STYLE

WBF Convention Card

A
\H 4

Level 1 8-16 HCP 5(4)+ Cards Lead in Partner's Suit
Level 2 11-16 HCP 5+ Cards Suit 3rd/5th Att Category i.e. Green / Blue / Red / HUM / Brown Sticker:
Cue bid of responder could be 11+ hcp with fit NT 2nd/4th Att Country: Uruguay
Over 14:1¢=5+y 9+hcp ,1¥=5+4 9+hcp, 1INT natural Subseq Event: (Open/Women/Senior/Transnational)
Other: Players: Dante Salaverri, Bernardino Ochoa
1NT OVERCALL (2nd/4th Live; Responses; Reopening) LEADS SYSTEM SUMMARY
2nd position: (15) 16-18 ,4th position: : (14) 11-15 Lead Vs.Suit Vs. NT GENERAL APPROACH AND STYLE
Sandwich 1ST: No called suits 5-(4)+, 0-9 hcp Ace AK(x)x, AK, Ax, A AKOx(+) AKIX(+) AKx(+) Natural 5th mayors
Over 1#:24=5+4 9+hcp ,2¢=6+¥ 3-10 hcp ,2¥=6+4 3-10 hcp 24= Bicolor of King AKx(+), KQ(+),Kx, K KQJIT(+), KQJ9, KQT9(+), KQT(+)
neighboring suits ,2ST= xfer to 3# with 6+ cards of # or ¢ (pass or |Queen [QIx(+), QJ, Qx, Q QITx, QIx(+) 2nt 20-21
correct to 34), 3&= Bicolor v y #. 3¢= Bicolor 4 y ¢. Jack KIT(+), J10x(+), Ix, QIx, ] QITx, JT(x)x, AJTx(x), KIT98 2#= 22+, 5 or less loosing cards
JUMP OVERCALLS(Style; Responses; Unusual NT) 10 KT9(+), QT9(+), T9(+), 10 TOx(+) (H)TOx(+)
9 98(+), 9 (H)98(+) 98x(+), Top of nothing 1NT Openings: 15to 17 hep
2ST Unusual (no called minors) 5-5+ Hi-x Doubleton or xxxx Doubleton or xxxx 2 OVER 1 Respons yes
Lo-x Hxx - Hxxxx Hxxx SPECIAL BIDS THAT MAY REQUIRE DEFENCE
Reopening: Natural SIGNALS IN ORDER OF PRIORITY 2#= Strong
DIRECT and JUMP CUE BIDS ( Style; Responses; Reopenin Partner's Lead Declarer's Lead Discarding Jacoby
Cue Bid Direct = no called Mayors 5-5+ Suit:1st |Attitude, K lead(counti Count Udca New Minor
CueBid on jump = Stop guestion 2nd Count Count Drury
3rd Bergen
NT: ist |Count Count Lavinthal Inverted minors
VS. NT(vs. Strong/Weak; Reopening;PH) 2nd Count Count Smolen
2#=Mayors 5-5(4)+, 2¢= xfer a ® with 5 o0 + cards, 3rd Puppet
2v= xfer a & with 5 0 + cards, 24= Bicolor of neighboring suits - : Signals (including Trumps): Gerber
(34:4v+ and 3+#4, 34:44+ and 3+ ¢), 2ST= xfer to 34 with 6+ cards |Udca, Lavinthal Lebensohl

& or ¢ (pass or correct to 3¢4), 3#= Bicolor v y #. 3¢= Bicolor 4y ¢.

Four Siut Forcing

no vul:0+hcp, vul: 8+hcp

DOUBLES

TAKEOUT DOUBLES(Style;Responses;Reopening)

VS.PREEMPTS( Doubles; Cue-bids; Jumps; NT bids)

X=Suit

Style: At least 3 cards in the other suits

Suit = X

2nd: Can be weak with 4441 or 5540, 4th: 9+hcp

SPECIAL FORCING PASS SEQUENCES

After certain sequences, penalty doubles

VS. ARTIFICIAL STRONG OPENINGS

SPECIAL,ARTIFICIAL AND COMPETITIVE DOUBLES/REDOUBLES

In FG sequences

X=Suit

Inviting double

Suit = X

IMPORTANT NOTES THAT DON'T FIT ELSEWHERE

We open by the rule of 20

OVER OPPONENTS' TAKE OUT DOUBLE

Natural

Psychics: Sometimes

Vs Mayors, 1M pd - X(opp) - 2NT= fit + 10+points




preemptive 3-10 hcp

OPEN TII(FEK M"\(‘)':O- ,I;:f DESCRIPTION RESPONSES SUBSEQUENT AUCTION COMPETng/lEDé::\/:éSED HAND
ART.| CARDS | THRU
L3 2 Balanced I1-14 or 18-19 hep 14=5+¢ 6+hcp, 19=4+¥ 6+hcp, 14= 4+4 6+hcp, 1ST= 6-9 bal, B;(533£).' T
Unbalanced 11- 21 hep 24= 4+4 up to 10, 24/2/a=17+hcp with 5+ ¢/v/a. New minor
2ST=10-12 bal, 3#: 4-9 5+&, 34/¥/a Splinter, 3ST= bal 13-15
1¢ 4 natural 11-20 19=4+¥ 6+hcp , 14= 4+4 6+hcp 1ST= 6-9 bal, 14-/9/® - 2NT: 18/19 hcp could be(5332)
24=FG could not have 5&, 2¢= 10"pts 4+, 29/4= 17+5+ v/a. New minor
2ST=10-12 bal, 3#: 6-9, 6+%, 3¢= 4 -9, 5+¢, 3¥/a. Splinter,
3ST= bal 13-15.
L4 5 natural 11-20 14=4+a 6+hcp, 1ST=6a12, 2#= FG could not have5#, Jacoby answers Drury
24=17+hcp 5+4 24=FG5++, 2¥=6 a 9 3+¥ , 2ST= 13+hcp 4thv
/ 16+ apoyo 3+v, 3#= 10-12hcp 3v. 3¢= 10-12hcp 4%9.3v= 6- 9
4v.
34/4%/44= Splinter, 3ST= 13-15 Bal 3¥ . 49= 5+¥ preemptive
e 5 natural | 1-20 hcp 1ST=6a12 bal, 2= FG could not have5%, 2¢= FG 5+¢, 2¥= FG Jacoby answers Drury
5+¥ 24= 6-9 34, 2ST= 13+hcp 4tha / 16+ 3+ 4 3#=10-12 34.
34= 10-12+44.3v=17+hcp, 5+¥. 34= 6-9, 44. 44/44/4¥= Splinter,
3ST= 13-15 Bal 34. 44= 5+apreemptive
INT 1517 hep 2&= Stayman, 2¢= xfe)r(ft:rvs,UiZtvi; ::]irr:::s,sz.e—xfer tos, after minor Smolen
28T= 8-9hcp bal, 3#= xfer to ¢, 3¢/¥/asplinter 8+hcp, ANT=10-14 Lebensohl
4&= Gerber,4¢= xfer to ¥, 6+¥ SO. 4¥= xfer a 44,6+4 SO,
48T=Cuantitative
28 Strong 2¢= waiting 4+ or Aor KQ, 2¥= Neg 0-4,
Forcing game 24=5+4 8+ hcp, 2ST= 5+v 8+ hcp, 3#= 5+& 8+hcp, 34= +48+hcp
24/v/8 6 preemptive 3-10 hcp 28T= 13+hcp , New suit 5+ cards 15+ hcp ,3¢/¥/4=barrage After 2ST, redeclaring the suit
discourages, anything else is positive.
2NT 20-21 Could have 5M 3#=Puppet, 3¢= xfer a v, 3v= xfer a 4, 4&=Gerber ?:er 3%; 34=1or 2 M 4th 3v= 5v, 347
34= Menores(xfer to 4%, pass or correct to 44), 4ST= Cuantitative. 3ST= No 4thM.
38/¢4/v/0 6 preemptive 3-10 hcp 3NT=15+hcp , New suit 5+ cards 15+ hcp
48/¢/0/0 7

High Level Bidding

4NT=14/30 keycard

Next suit ask for Q (if it isnt the fitted suit)

59=2 keycards without Q

5@=2 keycards with Q

If after a response to 4ST the 5# is not a suit and does not ask for the Q, said bid

replaces 5ST as a king question.

Ace

Over any NT, 4% is Ace question: 4% U or 4 Aces, 4% T Ace, 4% Z Aces, 4NT 3

54 ask Kings, same answers in level 5. 6% ask Queens, same answers in level 6.




